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one pair (— %) Eﬁiﬁ— *2
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3 of akind (= 1%) HREE >4
straight (E=T) i TEC
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full house CFHED) HREE 15
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SRR b - Eﬂj}r}gh G IR H MR RT
Z[Ifr~ bonus FJ'IEfE P AZITE I b e ﬁ" FEAIIZ “WIF'EJ IR ?'JTU}%L i
L}ﬁ—é\k ﬁﬂ;}% BT J e Lgﬁj‘ﬂhﬁ F;/I “E I %B}IIL I]Hlmfh’%ﬁjﬂ‘ﬁi wa:[F;IF[j |,«>L4|:L[
,9|Fﬂﬁﬁﬁ’ﬁﬁlﬁ@“&pu&ﬁlmmﬁ@ [:r:rj\ EU‘F(J\—-ET&FU” o

K IE I By
EA

g



Total MONMEY: S8
Rate: 1
Bet: 1

How much do uou want to bet=
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Total HONEW: 47T
Rate: 1
Bet:J3
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Two pairs : 3 2 x 2k g ok 1 = 193559
Three of a kind : 4 CUaCl a8+ Clu Cl 4990
Straight : 8 CVx(axgrgx44 - C1) = 10200
s 13
Flush : 10 » i 5148
13 4
Full house : 15 CiaCiaCia Gy —37a4
13 4]
Four of a kind : 50 Cix Gy =624
4
Straight flush : 100 CixCi 2y

(-1352420) + 1098240 + 123552 + 4992 + 10200 + 5148 + 3744 + 624 + 40
= - 105880
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